Model Set-I
Class <hall - X

faua - Science

HETT 39T General Instructions)
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(There is no negative marking for any wrong answer)

e @ el | ®

(There are two’séctions in the questions paper)

EUg - I (Section-I)
H’{ﬁﬁ'@ Y. (Objective questions)
Fo 3F  Total Marks - 40
El Y9 1 W0 Total No. of Questions) - 40
@ug - II (Section-II)

Ry EFEﬁﬁWB Y99 (Non-objective question)

el 3 (Total marks) - 40
oTe] ITT YA (Short Answer type question) - 0x12=24 3
&Y ITUT Y9 (Long Answer Type Question) - 16 &
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@Ug - I (Section-I)
a'{ﬁﬁf%' TJ1 (Objective questions) 1x40
el vl @ A o
Write the correct answer of all questions

Jaqel <UU I BIHH-GI SUH! Thdl-F1 HY Bl 8-

(A) A (B) et

(C) =g (D) =W

The focal length of a concave mirror of its radius of curvature is -
(A) Double (B) Half

(C) One Four : (D) Equal

T-oIE H BHE-gU FHEYE I § HA G -0 B -

(A) e 3fe < (B) R-3f 3

(c) s 3fe 3w (D) T8 | HE &

Which eye-defect arises due to decreasing of focal length of eye lens
(A) Myopia (B) ‘Hypermectropia

(C) Presbyopia (D) None of these

aY-9UA & Gy afay | fayaur w1 ae-
(A) &gd %W & Wl ® (B) ufafda & Sane
(C) wgd A =g Sl @ (D) Fr@ uftafia gar e

During short circuit an electric current is the circuit becomes.
(A) Very low (B) Unchanged
(C) Very high (D) Changes constantly.

frefafed o =F @ 15 faga ufwy § foepm wifsm =1 fefua 7@ 8

g 7
(A) I2R (B) IR
(C) VI (D) V2/R
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Which of the following expression does not represent electric power

in an electric circuit?

(A) IR (B) IR2
(C) VI (D) V2/R
A o weE-g0 A ufadq fear smr 2-

(A) gaett g/ (B) 3R wea gr
(C) wemHl wiguivE gr (D) wftarie g
The change in focal length of the 'eye lens is done by :
(A) Pupil (B) Retina

(C) Culinary Muscles (D) Iris
fere et uftefdd @ 21

(A) =it 3= &l faggesst o
(B) fagga =it =1 =ifyes IoH

(c) Tamfs 3=t & faga st o

(D) faga 3 = Tarf 3 H

Electric motor converts _

(A) Mechanical energy into electrical energy
(B) Electrical energy into mechanical energy
(C) Chemical energy into electrical energy

(D) Electrical energy into chemical energy

faga sea & fhorde ¥ forg a1 STERT 8l § 2

(A) TTE=A (B) dian

(C) A (D) ST

Which element is used in filament of electric bulb ?
(A) Tungsten (B) Copper

(C) Nicrome (D) Zinc
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8.

10.

11.

T YRy fen fea wasl 9 foro g 2

(A) 6 (B) 4

(C) 5 (D) 3

How many faces of a simple prism is bonded.

(A) 6 (B) 4

€) S (D) 3

i &1 SR B9 9% % SR €, @ 49 Ehm
(A) 394 (B) m&dd

(C) gHadA (D) 9HdA a1 IAqA

The image of object is always same, the mirror will be

(A) Convex (B) Concave

(C) Plane (D) Plane of convex
o= raa WO HT @IS R i i-

(A) Heeaa A (B) ®T© A

(C) wHiaR (D) FAfFT 3
Electromagnetic Induction is discovered by

(A) Maxwell (B) Faraday

(C) Ampere (D)  Fleming

SR 1 1 e F@ gdid B -

I(A) YehTYT o 3TTedd & ROl (B)WhTST & WehivH o BRI

(C) Yl & TUETH & RO (D) =99 ¥ e 7ol

The colour of sky appears blue because of
(A) Refraction of light (B) Dispersion of light
(C) Reflection of light (D) None of these
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14.

15,

16.

AT 43 sfuehad Tl g0 9o i aEgel i TR W Hehdl 8-
(A) 25m (B) 2.5cm

(C) 25 cm (D) A1

Upto what distance of the object can a normal eye view clearly.
(A) 25m (B) 2.5cm

(C) 25 cm (D) Infinite

9 Y &EA H S.1 HEE ©-

(A) cm (B) cm'l

(€) m! ‘ (D) m

SI unit of power‘efilens is

(A) cm (B) cm'l

(C) mt JD) m

AfIfHA CuO + Ho —> CU + Ho0 H TohEeh Su=ra &far @ ?
(A) CuO (B) “Ha

(C) Cu (D) H20

In the reaction CuQ + Ho— Cu + H20 which is oxidised.
(A) CuO (B) Ha

(C) Cu (D) H20

Aifead w1 HasERT = 872

(A) 1 (B) 2

(C) 8 (D) 11
What is the valency of (Na) sodium ?

A) 1 B) 2

C) 8 D) 11

Tesh 1 9 G © 2
(A) CnHon (B) CnH2n+4

(C) CnHon+2 (D) CnHon2

fvare

ghe
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17,

18.

20.

The general formula of alkane is :

(A) CuaHo2n (B)  CnuHon+a

[C) CnHQn+2 (D] CnHQH—Q

3 fae@ 1 PH W &1 811 ?

(A) 7 9 Aok (B) 7 9 %A
(C) 7 & TR (D) T =+ &l
What is the pH value of neutral solution ?

(A) More than 7 (B) Lessthan 7

(C) Equal to 7 (D) None of these
aerd Wt o fRes o @ 2

(A) FW B,

(c) @m (D) Ceiare

How many groups in periodiC:table ?

(A) Seven (B) " None

(C) Eight (D) Eighteen

I W 21U foed 1 g e § 2

(A) HTHI (B) UWIEE

(C) = (D) HTERRH
Which non-metal is good conductor of electricity ?
(A) Sulphur (B)  Graphite
(C) Chlorine (D) Phosphorus
e T ?

(A) #1g (B) ¥

(c) 3udrg (D) 399 ¥ &g &l
What is carbon ?

(A) Metal (B) Non metal

(C) Metaloid (D) None of these
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21.

42,

23

24.

25,

= & @ g e B

(A) HCI (B) HNOs3

(C) H2S04 (D) CH3COOH
Which of the following is weak acid ?

(A) HCI (B) HNOs

(C) H2S04 (D) CHsCOOH
T (K) Wt W] Ho A 87

(A) 19 (B) 20

(C) 23 (D) 35
Atomic number of Potassium is

(A) 19 (B) 20

(C) 23 (D) 35

= & ¥ a1 yer: T R 2

(A) Hz (B) CHa

(C) C:2He (D) C4Hio
Which of the following is mainly biogas

(A) Ho (B) “CHgq

(C) Cz2He (D) C4Hio

WIHNY] TH 1 TS G 941 8 ?

(A) NaOH (B) NaCl

(C) CaCoO3 (D) Na2CO3

What is the chemical formula of common salt

(A) NaOH (B) NaCl

(C) CaCo0s3 (D) Na2COs3

forelt arfufran & s o ol uered e @

(A) TR (B) Ao

(C) #Afereh (D) wfdwe
The compound take part in chemical reaction is called :
(A) Oxidising agent (B) Reducing agent
(C) Reactant (D) Product
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26. HH I A H qA & ?

el

28.

29.

30.

(A) Ca
(C) He

(B) Br
(D) Li

Which is an element of group zero ?

(A) Ca (B) Br
(C) He (D) Li
@O 99 & e eavas ©

(A) HEA SEATFIES qe1 S (B) FHelkifpa

(C) §d &1 yepmer

(D) =99 ¥ w4t

Essential for autotrophic nutrition is

(A) CO2 & Water
(C) Sunlight

(B) Chloroplast
(D)  All of above.

T © I YT IS 7

(A) BRG <o
(C) ydt

(B) UMl
(D) =m

Which one is photosynthesis organ ?

(A) Chloroplast
(C) Leaf

(B) Garna
(D)  Stroma

A9 % YRR &1 gad 91 ufy 2

(A) FHd

(C) 3verR™

(B) TR
(D) wEHa

The largest gland of human body is

(A) Liver
(C) Ovary

(B) Pancreas

(D)  Adrenal

Y | SEed @ fau SOErt §

(A) & & 984 & fau

(B) ¥ISH & o&q & fau

(C) ol 3t & @@ & faw (D) fRfsH & o159 & o
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The xylem in plant is responsible for
(A) Transport of water (B) Transport of food
(C) Transport of Amino Acids (D) Transport of oxygen

1. U SHIRERT Farel § S # uiEed g gl

(A) TTE g (B) <rar Afeenet g
(c) faazo g (D) T 9 &I &l
In unicellular algaes circulation of water done by
(A) Osmosis (B) Sieve tube
(C) Diffusion (D) None of these

3. TSl F BT NG H GEd Bl
(A) ?ff (B) M
(€) =R (D) @Had T&h
The number of chambersin the heart of the fish is.
(A) 2 B) 3
C) 4 (D) Only one

33, fyefafed o S T o7 & foed ¥ o
(A) CO2 (B) CO
(C) NHs (D) B 3RC A
Which is formed after breakdown of Amino Acid
(A) CO2 B) CO
(C) NH3 (D) B and C both

34, Sff ©

(A) TH THHA (B) @@
(C) g (D) FHERESe
Auxins is a
(A) A Harmone (B) Fat
(C) Enzymes (D) Carbohydrate
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35,

36.

3k

38.

TE T EHA ®

(A) TEATH (B) Ui
(C) T (D) TERA

A male Harmone is

(A) Adrenaline (B) TSH

(C) Estrogen (D) Testosteron
= ®H eelfies W &1 fafy 82

(A) faged (B) TR

(c) fg@=a (D) 3 9§ 9+t
Which one is asexual reproductions method as given below.
(A) Fission (B) Budding
(C) Binary Fussion (D) All of these
WY H B T

(A) <RIcd (B) HeRE

(C) iy (D) TR

The anther contains

(A) Sepals (B) Ovary

(C) Ovules (D) Pollens
AR Ul 1 T g ©

(A) SloTAoup Tvpst o (B) Sessa o
(c) dfrerr (D) afiass
The message hereditary characteristics lies in

(A) DNA Molecules (B) Protoplasm,
(C) Nerve (D) Brain
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39. fow Swfrer i ¢ sTafereRt w1’ wer s 82

(A) 3 (B) ¥R 4 Hewd
(C) TR &F (D) =99 9 &3 &l
Name the scientist who is known as the "Father of Genetics"
(A) Aristole (B) Gregar John Mendel
(C) Robert Hook (D) None of these

40. eTEfEem diul | Y el qU S 82
(A) dfaat o (B) @ W
(C) ufedl wd q 3 W (D) T ¥ &g e
Stomata is where present in Hydrilla plant.
(A) On leaves (B) One steam
(C) On leaves & steam (D) None of Above

fSgre 1 a1v site qeret sifbfaas
AT U, ATs Uue, 3fiee-dl,

OISk dl, siicd, Al ¢ec, de-317 3e

Afae o udtel usst U= 3fe & f3e...

v r"lﬂ TEFP"y "

S
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(Section-II)
Wug- 11

g ELEIE) U9 (Short type questions)

g @UE § TR Y9 & IW 30 T 50 I [ T

Write the correct answer of any four questions about 30 to 50 words

from every sections.

WUg-H (Section-A)

. wHT & ave fem fag ?

Write the Fleming's left hand rule ?

2. ER 1 vaHi 2,422 39 wUd o Sifaur B2

Refractive index of Diamond is 2.42. What its mean ?

3. oo SN STHN yfafaral § g oTR §?

What is difference between real images and virtual images.

4, YEdEN IR feeuw § € owR fae 2

Write two differences between alternating current (A.C.) and direct

current (D.C.) ?

5. R F feufenm 22

Why stars are twinkling ?

6. O TR WO Y HHII B2

What do you mean by electromagnetic induction.

©EUs-d (Section-B)

7. Gdfeld TEMETER S 1 8?7 T ISR

What is the balanced chemical equation ? Give an example.

gl
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8. 3T N YN ¥ | TR faws?

Write two differences between acid and base.

9. THEIEA F B2

What is Isomerism ?

10. gu% T TR & T € S ufed fore?

How many types of indicator ? Write with examples.

11. SYIYHT Toaes &l giafd = ?

Define amphoteric oxide?

12. Hedltd 4 To SMER ORUT GOR % % fOu S 9 HuEe U on?

What were the criterialused by mendeleev's in creating his periodic
table?

gug-T ':':(Section-C)

13, TEqIer grer qen fawHdid qiver § s e 27

What are difference between Autotrophic Nutrition and Hetrotrophic

nutrition?

14, UTEF SSEHl H1 1 FE 2?2

What is the function of digestive enzyme?

15. UEY A F 2?

What are plant Hormone ?

16. TER @l F1 872

What is food chain?

17. 3THERM g SAfad BA o1 AW fo@ 9o 391 &1 adqid

Name of Hormone secreted by Pancreas and write its function.

18, SemeH 1§72

What are Fossils ?

BiharboardQuestionpaper.com 4
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14

?:T‘Ef I U9 (Long type questions)

[} gvai &1 S 150 T 200 S H )

Write the correct answer of all questions about 150 to 200 words.

19.

20.

21,

A 1 fm o 22 3o S % fau ww wEm w5 oavE w12 6
What is ohm's law? Describe with an experiment for its proof.

HAYAl or

TF I YU T kAl BRA 26 S0 ©1 |90T | 15 WHO T gl

R feq ws a5 & Sfafaw i fEafd 9 wifs

The radius of curvatureof convex mirror is 26 cm. What is position

of image of object kept at.l'5 cm from mirror.

ST % YA TR 1 AW fere? S o 3% sTem | TTeRd o
U L ? 5

Write the main ores of zinc ? Define the extraction of zinc from its

ores?
HAYCT or

i

T R erEieres § o R e

Write five differences between soap & detergent ?

YIET 1 27 T % YIET dF 1 AHifRd o S| 5

What are respiration ? Draw a labelled diagram of respiratory

system of human being.

Al or

well | e &1 wfken &t AifRd o g wHE |

Explain fertilization process in flowers well labelled diagram.

oy 30
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Qug - 1
Section - I
T Y97 & I
Answer of Objective type questions
L. B 2. A ¢ B
5: C 6. B A C
9. 8 10. B 1.3 B j Bt D
13. 8 14. B 15: A 16 C
17, C 18. D 19. B 20 B
21 D 228 A 23. B 24. B
23, C 26. C 27. D 28. &
29. A 30 A 31. C 32 A
33. D 34 A 35 D 36 D
37, D 38. A 39. B 40. D

fSgre did'® e site qere sifhfaas
Y QUe, ATes Uue, 3fice-&il,

OISk d, siled, Al eac, Ae-3 3

Hfaed o udlten uss ud 3fe & fSeE...
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